JE It B

Zhaosheng Hydraulic

S

AL IR T+ =D PR 2 A

Hebei Zhaosheng Hydraulic Machinery Co.,Ltd

10RSIBAEAXK A RE £ E ¥ R =%

10 Series Hydraulic Steering Control Units

it - 78
HEBEI NINGJIN



APPLICATION

PRODUCTS

—_—— ]

J L A
NEEFNEEERAT ATV LERTENM., BEEHiEE. E8ELVH. A

HER P, ARBEERAA. UK. B, BRI, REIFRIESE. ol iE.,. 79

. ERIZEFNTIETEE. SIEN. B5%ER. BlLEFHU. TEV. KRITERY. BE

MEF SR REE RS, FAER TEENARIRE), RARE. SRRIE.
&RV RIS E N FATEVAG RIS

All kinds of products manufactured by the Company can be widely applied in the hydraulic drive systems
of mine construction machinery,cranes and transporting equipment,heavy-type metallurgic machinery,petroel
eum and coal mine machinery,vessel deck machinery,machine tools,light industry,plastic machinery,geological
drilling equipment,agricultural and forest machinery,mineral equipment,construction equipment and working
platform,lawn mowers,special vehicles,fishery winches,machine tools,carpenter machinery and sawing
machines,and rubber machinery,These products are especially applicabie to screw drives of plastics injection
machines,the drives of lifting winches and winding drums,and driving tracks of rotating mechanisms and the
drive of wheel traveling mechanisms.




= o= o

e N QUALITY MANAGEMENT SYSTEM
B R E R R E B pcie: o

This 0 cartify hat the sy mansgemant systoe o1

P |

FALIET LB 7
s HILARHA i o HeBei ZhaoSheng Hydraulic Machinery Co., Ltd.

icnia i o
GB/T19001-2008 idt 1SO9001:2008
“Thia carticats covers tha tolwing scops of

Production und Sales of Open coster il 3tper g byl ic stors cyeloid

[eren [S———

g e F2ol D__ -~

- Eﬂ o s
. h ‘&!w L i '\’::\ _t

£2Y

AR E 5t

ALRABRENHERL R, BEWEFBMRIFZERED A, BZZERER G
7. FKASERERETHRAEN, FRZATIENMM. 7L, A, 5
A, R, EEEA. B R TR,
Bz OGS RAEHRNESTEZ, HELTESZRIERAANR, 3
IRHECHRER, NEEHEANERRIETRAE. NRT ER. EFEHET .
NEBHEMT, RERVWEESRE], A ERATENTRABRIEERR, R
BWmPRE. FRONME. BAANRSRZENIMNEPEERE, AR T2013F /05 E
131S09001:2008 /2 B K R IAIE
ARFETF “EEFEZARNEE” W - TF - KERRNHH ZEAKRER,
TEER, BEEBERVME I TR,
AREEERE FE: WEEL, EPAY;
fik: REF—, BRBEFEE;
Br): BEWR, KFEKF.
WAk ok H LR A TS 8] R $e 1k B AR

COMPANY PROFILE

Hebei zhaosheng Hydraulic Machinery Co.,Ltd is specialized in the production of BZZ
Hydraulic Steering Control Unit, FK combined valve block and BM series cycloid hydraulic
motor, hydraulic components, covering the industry, agriculture, transportation,energy,
construction, vehicle, marine, mining, metallurgical, aerospace, and other fields important
for national economic development.

Hebei ZhaoSheng has strong capability of machining,metal material molding and overall
coordination which provide comprehensive security for hydraulic system production. With
years of development, Hebei ZhaoSheng has a team of more than 40 employees. The
contingent is a younger, better educated, quality, efficient and vibrant team, three—quarters
of which are professional technicians of various specialties. Our well-equipped facilities
and excellent quality control throughout all stages of production enables us to guarantee
tota customer satisfaction. With excellent quality,reasonable price and integrated trade
service , our products are greatly appreciated home and abroad.

Beyond that, we have been certified by ISO9001Quality Management System in 2013.

Hebei Zhaosheng Hydraulic Machinery Co., Ltd. Is located in "the second national
agricultural machinery market," Ningjin County Dalu Town agricultural machinery market,
which provides us talent employees, convenient transportation access and a strong base
of machinery production and processing.

Keeping the core values of "Quality is the eternal subject and the customer is the
eternal God", We are stick to the high quality products as live, technologies as development.
Adhering to the philosophy of " To persevere and to excel ", we provides with first—class
credibility the first—class products and services to our clients.

S|




01 <<

10RIERERBIZE
Hydraulic Steering Units 10 Series

10RFIEREROSNRIENERNGEH, ~BALUER
B, Plal: EMARREDEHIRE.

10R3r= G/ ZNAT2i TR BSTENHBI ENAIAG
REIRRERVEBARS, SERMARNGN, EHBRABNNESD
BEIBIENE; BARE. RE, Z2UR; EMNE[ARTLL
MIERREDBOR @RS, FHLEEIMBETTF NS &
RBIEDEZEFIE, TUEIMEARFENTIEED. EPEDE
=,

1023~ RNEBRITHEBIRNE. 10R5IRREYE
EFEEEING, TN N6/TESHFA/SESHRAR
5.

6/TEEMAT: RIBERZERTXISDR101, 102, 103R5|
(Hp: 102R38ERRTE5BZZAIGIERRT -3

A5 LEMART: EXN109RS, BAFREFHIRXK,
IREL 119, 12973,

10RI=RIIERADEAR; FTRIRBEESEME
EENRNBERXAUD AR TRI, BIRENTS; RER
TAEERENRE, HSRANFERENR, WFHTILRA
Brem, ERZERNEPRURBIRT, RERZERLUT
BARR.

101, 102, 103RFIESIRIBAP13, 109RFE SR8
P47,

www.zs—hyd.com

4

Hydraulic Steering Unit 10 series is integral hydraulic steering unit, the
valve body of rotary valve is integral structure, then the steering unit
can integrate with cartridge valve, such as the pressure control valve
of the integral system.

Hydraulic Steering Unit 10 series is widely used in the steering control
system of different kinds of engineering vehicles, such as the steering
system of many kinds of industrial and agricultural mobile machinery
forklift, loader, road roller, tractor, combine harvester, and the ship
helm etc. The steering unit can control the steering cylinder with
bigger resistance force by inputting minor force;
and reliable; The integral check valve can prevent the system

It's easier , flexible

pressure oil from anti-vibration , and prevent from “hit-hand” during
the steering operation; Integral pressure control valve can control the
operation pressure and the shock pressure of the steering system.
The mounting dimensions of Hydraulic Steering Unit 10 series are
consistent with the international standard. According to the structure
of gerotor set, Hydraulic Steering Unit 10 series can be divided into 2
series: 6/7 teeth structure steering unit and 4/5 teeth structure
steering unit.

Hydraulic steering unit with 6/7 teeth structure: according to the size,
this series may be divided into 101,102,103 series ( among these series,
the mounting dimension of 102 series is accordance with BZZ series).
Hydraulic steering unit with 4/5 teeth structure: it's defined as 109
series; according to special requirement of special customers, then we
develop 119 and 129 series on the base of 109 series.

10 series SCU integrate inlet check Valve. Each series may be divided
into 2 series according to if the steering unit integrating cartridge Valve
or not. SCU without valve and SCU with S. SCU without valve doesn't
integrate pressure valve,SCU with s integrates pressure valve. As for
open center non reaction steering unit,"1" represents the SCU with relief
valve and shock valves,"4"represents the SCU with relief valve.
Please consult P13 for the introduction of 101 series,102 and 103
series, while P47 for 109 series.



Je I+ E

Zhaosheng Hydraulic

S

10RI =R ERESE
Hydraulic Steering Units 10 Series

V23508 Order Code

0w 0 O-0-0-0-0

MO

Ports Code

ZRRE/NEEE

Relief Valve Pressure Settings

He

Displacement

— 1:FF0JG/sME! 1:0pen center non-reaction
— 2:FFEAHEl 2:0pen center reaction

S
—_ DJE'S_%S —— ST MA! 3:Closed center non-reaction
Function Code — 4 FJIoME! 4:0pen center non-reaction
— 5:AGERAY 5:Load sensing
ERRITIC — S:FHEMRE S:ntegral Valve
Code for integral valve L B oREEERRIE Omit:Without Integral valve
s — 1E—hERFR YT, 1:1st mounting type
A I /, ~ Y . .

%mﬁ{ﬂmﬂﬁﬁ% — 1 2FETIEER YR 2:2nd mounting type
Eatla ion Safles — 3:FE=MhEEA YA, 3:3nd mounting type

L 9109EHR TR 9:Mini SCU

BRI ERERCOES

Cycloid Rotary Valve Hydraulic Steering Units

www.zs—hyd.com

>> 02



101-1, 2, 3 RIIEHEK MR
101-1,2,3 Series Hydraulic Steering Control Units (SCU)

V24508 Order Code

o1 — [ — 00—

\— i ARE R ]
Ports Code
&
Displacement
RS
Function Code

101 R HN T 170 & N3 B2 AR

101 Series Hydraulic Steering Control Units(without integrated valve)

I REFRFS Function Code

A B A B
I | I |
| T | |
‘ |-\—' — rm e | \ |'\_l H I’N\ =R
W[ Fo—d | W[ Fo— |
| T B T
| - | | ' |

P ] T P T

101-1 101-2
TR TSN TEA [N

Open Center Non-Reaction Open Center Reaction

NE
=<
i

\|
()
7

101-3
P S B
Closed Center Non-Reaction

03 << www.zs-hyd.com




@@ kFHBE

Zhaosheng Hydraulic

101-1, 2, 3 RILREEKER
101-1,2,3 Series Hydraulic Steering Control Units (SCU)

FEH RKEE Main Specification

Parameters Type 101 -
Function Code 1,23 1,3
Displacement(mL/r) 50 63 80 100 125 160 200 250 280 315 400
Rated flow (L/min) 5 6 8 10 12.5 16 20 25 28 31.5 40
Max. input pressure (MPa) 17.5
Max. cont. back pressure (MPa) 25
Weight (kg) 5.70 5.76 5.84 5.91 6.05 6.25 6.45 6.68 6.86 7.06 7.45
Dimension L (mm) 130 132 133 136 139 144 149 155 160 165 175

Note: L is the maximum length dimension of product. This dimension on some products may 2mm or 4mm shorter.

%1 R~ Mounting Data

v 8210, 3 16/32-12-30° (SAE)
? depthl§
= = - i o
f@l W - %@
L \ A Bw = " "‘-.qu'\\ —
E‘?' | s s Eip g 8 3 T
.§ T p ‘ : © : ‘.‘.‘-‘ -
- s r
2.8 22 61
7| 28 44 i
L
i Q4847 Ports Threads
.69 P, T, A, BHO ERIRUC IERRQV
Code Ports P,T,A,B Column Mounting C Valve Mounting V
A M20x1.5
B M20x1.5 O-ring
M2
C M18x1.5
D M18x1.5 O-ring
E G1/2 M10
M10x1
U G1/2 O-ring
G M22x1.5
Q M22x1.5 O-ring M12
M
F 3/8-16 UNC 3/8-24 UNF
3/4-16UNF O-ring
| M10
M10
N M10x1.25

1 P, T AL BRIERFE1S mm, EHELC, VAREE16 mm.,
Note 1: Ports P, T, A, B Depth : 15 mm; Column Mounting C & V Depth: 16 mm.
2. gt DT AR E R S .
Note 2: The code of other ports dimensions will be listed in an agreement.
www.zs—hyd.com

>> 04



05 <<

101-1, 2. 3 RI|&KEHEOIZE

101-1,2,3 Series Hydraulic Steering Control Units (SCU)

101-1, 2. 3 F=HiTH& %= Order Code

Pos.1 Pos.2

(oo | - [ « [ -

‘ kokk ‘

‘ Pos.1 l - ‘Dj’agﬁ% Function Code ‘

H. 1: 70 M 1:0pen Center Non-Reaction

2:FF Va2 i 2:0pen Center Reaction

3:AiIc /M 3:Closed Center Non-Reaction

’ Pos.2 ‘ = ‘}3E§ Displacement mL/r J

50, 63, 80, 100, 125, 160, 200, 250, 280, 315, 400

| Pos3 | - |HORH Ports Code |
A.B.C.D.E. U G. Q. M F.I N

==z

101 R @Bs, FILIRMN, HE125mlr,
PO OIRSCAG1/2, FEBHRAEESERIRY
M10, ¥EEESi]tEmSA: 101-1-125-E

www.zs—hyd.com

For example:
Order code

101-1 -125- E

Ports:P,T,A,B G1/2; Column
Mounting Thread-C M10
Displacement: 125 mL/r
Open Center Non-Reaction




S

Je I+ E

Zhaosheng Hydraulic

101S-1, 2. 4 RI|&KEEEE

101S-1,2,4 Series Hydraulic Steering Control Units (SCU)

1018-1, 2, 4RFI 4 F A 85 25 1 ) [ R4k R 1
101 R B A 5% ml 2R e [l DO g, 101S R H: a3
RAETE101 R B 2Al LR 2240l Z2ob i, hih (6 LL B
B i) (R AR AN [ A R R AR e 1 2R R, SRR SR

2 (A - L R | Wk

RU-=5288 Order Code

1o1s—[ — 00O — 0O

A
Ports Code

SCU 101S-1,2,4 series inherits the steering function of 101
series both in the structure and in the principle. The feature of

1018 series is to have the following valves functions

incorporated inside one housing as follows: the relief valve, the

shock valves, the suction valves and the check valve according

to the different requirement upon the base of the 101 series .

This kind of structure is more compact, and it's more convenient

in operation.

TR R e E
Relief Valve Pressure Settings

ik

Displacement
TIRers s

Function Code

101S R 5 A= 5 m) 25 G 4R IR

101S Series Hydraulic Steering Control Units(with integrated valve)

I 8EFF= Function Code

:

_O_
g
™M Fo |
pi Q ﬁ ’j

|
A |
P

\
|
\
L

101S-1
Tt TS B
Open Center Non-Reaction

1018-2
TFH SR

Open Center Reaction

101S-4
TR I S5 i

Open Center Non-Reaction

www.zs—hyd.com

>> 06



101S-1, 2, 4 RI&KRERKER
101S-1,2,4 Series Hydraulic Steering Control Units (SCU)

FEHARSE Main Specification

Parameters Type  101S-s-sstsk-sonnsk
Function Code 1,24 1,4
Displacement(mL/r) 50 63 80 100 125 160 200 250 280 315 400
Rated flow (L/min) 5 6 8 10 12.5 16 20 25 28 32 40
Max. input pressure (MPa) 17.5
Relief Valve Pressure Settings (MPa) 06, 07,08, 10, 12, 14, 15,16, 17.5
Shock Valves Pressure Settings (MPa) 12,13,14,16,18, 20, 21,22,23.5
Max. cont. back pressure (MPa) 25
Weight (kg) 5.75 5.81 5.89 5.96 6.1 6.3 6.5 6.73 6.91 71 75
Dimension L (mm) 130 132 133 136 139 144 149 155 160 165 175

Note: L is the maximum length dimension of product. This dimension on some products may 2mm or 4mm shorter.

& R~ Mounting Data

16/32-12-30° (SAE)

$82+0. 3
; depthl5
i O
» 7 ‘ A
—4 // ‘ i %45 :
i T’ZF%S &F‘(‘ L€ *J'*@”gw
—z f : ‘\l\ i / ‘
- A, Ve
= v @) @/
L4 1 AR
c / ’_%7 61
’ L 84
s O%84L Ports Threads
K3 P. T. Al BAO ERIRNC ERIRNV
Code Ports P,T,A,B Column Mounting C Valve Mounting V
M20x1.5
B M20x1.5 O-ring
M12
C M18x1.5
D M18x1.5 O-ring
E G1/2 M10
M10x1
U G1/2 O-ring
M M12
F _ 3/8-16 UNC 3/8-24 UNF
| 3/4-16UNF O-ring M10
M10
N M10x1.25

1 WP, Ty AL BRUREIS mm, JEEESC. VIIIRE16 mm,
Note 1: Ports P, T, A, B Depth : 15 mm; Column Mounting C & V Depth: 16 mm.
2. FeAth FHERTT X EA S .
Note 2: The code of other ports dimensions will be listed in an agreement.

07 << www.zs-hyd.com




Je I+ E

Zhaosheng Hydraulic

S

1018-1, 2, 4 RIEHERER
101S-1,2,4 Series Hydraulic Steering Control Units (SCU)

101S-1, 2. 4 =@iTE %= Order Code

Pos.1 Pos.2 Pos.3 Pos.4
(w8 | - [ ¢ [ =« [won ]| =« [ = | = [ = |
‘ Pos.1 ‘ - |D3§Eﬁ§— Function Code |

Hh. 1T/ 1:0pen Center Non-Reaction
2: 7B/ M 2:0pen Center Reaction
4:F I 4:0pen Center Non-Reaction

[ Pos.2 ‘ - |HE§ Displacement mL/r |

50, 63, 80, 100, 125, 160, 200, 250, 280, 315, 400

‘ Pos.3 ‘ = | ERRESEAES Integrated Valve Parameter |

ZEREINGEIE: Relief valve pressure settings (MPa):06, 07, 08, 10, 12, 14, 15, 16, 175
(EDEEEEEEZEREE6MPa)

Shock valves pressure settings is 6 MPa higher than relief valve

‘ Pos.4 ‘ — | 3OS Ports Code
A B, C.D.E,U M F_I_N

7R : For example:
101SARIE Mg, LT/, HE125mL/r,  Order code
ADBEOR, X=EWEND10MPa, ZPRED 1015-1-125-10 - E
16MPa, [UHOIRLCAGT/2, FEBH, BOEE=
GEEHREMAO, Ports: P ,T /A, B G1/2;

Eﬁﬁ%ﬁi}ﬁ%ﬁ%ﬂ 101S-1-125-10-E Column Mounting Thread C M10
Relief Valve Pressure Settings: 10Mpa ;

Shock Valves Pressure Settings: 16MPa
Displacement: 125 mL/r
Open Center Non-Reaction

www.zs—-hyd.com >> 08



101(S)-5(T)(TE)(L)(E)TX) RI &R EH E1=F
101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units(SCU)

101(S)-5(T)(TE)(L)(E)(TX) £ #1415 4% k) 2 H T 47 1
UL R YL
101S-5. 101S-5L. 101S-5E & 414 5% 0] 28 19 MR

XTI, SPVE RS R A e A -

101S-5L R A4 4 m) 2R FELLEL FL ARSI VLS F %

TGS, RIESHIES BN RSt

101S-5ERFI W R (1l S EELEL L AR 51 H T ABIh

AREAES, fE Sl R R4,

1018-5T. 101S-5TER A4k 5 4% 1h 7% s iR 77

i, SPVLEDYXL, YXLAUR S IR & s 5 H

101S-5TER B A& K #5 rl ARfEEL 2 1AL 51 H T A B

HEEMES, RE SRk i Uh R4t

101-5T R 5 4 Ik 55 10 &% 08 sGE ST, AT

DYXL, YXLAR: R R R, I LIRS %
RN ER L,

101-5TXRF AT ) g A0 T bz I, H 2 fis b [ iy

FEAHIE X P [0 2 MILFA. LFBAY R S K AL E A -

BU-24%A8 Order Code

09 <<

01— s5T—[LILIL]—[]

| B L BORS

SCU 101(8)-5(T)(TE)(L)(E)(TX) series is used in the load
sensing steering system.

SCU 101S-5,101S-5L,101S-5E series adopt modulary
mounting type and can only be used with PVFx* type priority
valve via modulary mounting.

SCU 101S-5L series guides the pressure signal of port LS out
of prot LL, and transfers the pressure signal to the electrical
control system.

SCU 101S-5E series guides the pressure signal of port A or B
out of port EL. and then supplies the pressure signal to the
electrical control system.

SCU 101S-5T,101S-5TE series adopts Pipe mounting and
via pipe mounting can be used with PVL* or DYXL,YXL type
priority valve.

SCU 101S-5TE series guides the pressure signal of the port A
or B out of port EL.and then supplies the pressure signal to the
electrical control system.

SCU 101-5T series adopts the pipe mounting, it can be used
only after the pipe mounted with the DYXL,YXL type priority
valve. and the relief valve is integrated in the priority valve.
When the 101-5TX series SCU is in neutral position, both of its
left and right cavity are connected with T port. This kind of SCU
are used with LFA,LFB type flow amplifiers.

Ports Code

A2

Displacement

R, 80ERLI

Load Sensing,Pipe Mounting
101 RINEREREOES (RSEMR)

101 Series Hydraulic Steering Control Units (without integrated valve)

www.zs—hyd.com



Je I+ E

Zhaosheng Hydraulic

S

101(S)-5(TYTENLI(ENTX) & 5 & =4 (=1 35
101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units(SCU)

U= A7 Order Code

101 — BIX — 11—

c STX — L] —[1
L HOAH

Ports Code

HiE

Displacement

ArEfeR
Load Sensing

10125 £REROEE ( FRSERE )
101 Series Hydraulic Steering Control Units ( without
integrated valve )

1018 —s[ L ]—0I0]— LI — [

BOAB

Ports Code

ZE2REINEEE

Relief Valve Pressure Settings

A2

Displacement

AEERRL, EEOTARDBESSIERC
Load Sensing Connection, Output signal
101SARIIEREIROEs (SRR

1018 Series Hydraulic Steering Control Units
(Including integrated valve)

www.zs—-hyd.com >> 10



101(S)-5(T)(TE)(L)(E)(TX) R 5 & ik E4s 1028
101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

I REFRFS Function Code

11 <<

www.zs—hyd.com

Pipe Mounting

“ i — | i i
; ’r@— 1 L i i i J@"@l L i
\ —_[:} ; \ \ \ \ |
C e 4 et —e e
i ' i ‘ i
19 1 oo 19 w1l E
[ O S O N [ R S [ I I S
A P Ls' T 'B A P Le! ' ' A P Ls' 7' 's
101S-5 101S-5L 101S-5E
MR %
Modulary Mounting
A B i .
I | i T T
| T BN = o
i ;\_ﬂ TTT—‘ I i f f\—ﬂ TTT 1% I :
jw _G—UJ‘:**] | ‘:w >—dd **7[\:
1 @ miia T
1 i | | |
: : i 1 = [ Jr{
j; | e | UL 9 g
ol AT =Y - N TP B ™Y I N £ N
101S-5T 101S-5TE 101-5T 101-5TX
B EE




@® kFHBE

Zhaosheng Hydraulic

101(S)-5(T)(TE)(L)(E)(TX) BRFI&mIEH TGS
101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

FEHARSE Main Specification

Parameters Type 101-5T(TX)-###-%, 101S-5(T)(TE)(L)(E)-sss-s#-%
Displacement(mL/r) 50 | 63 ‘ 80 | 100 | 125 ‘ 160 | 200 | 250 | 280 | 315 | 400
Max. input speed (rpm) 100 75
Max. input pressure (MPa) 17.5
Relief Valve Pressure Settings (MPa) 06,07,08,10, 12, 14,15, 16,17.5
Shock Valves Pressure Settings (MPa) 12,13, 14,16, 18, 20,21, 22,23.5
Max. Cont. Back pressure (MPa) 25
Weight (kg) 5.75 5.81 5.89 5.93 6.1 6.3 6.5 6.73 6.91 A 7.5
Dimension L (mm) 130 132 133 136 139 144 149 155 160 165 175

Note: L is the maximum length dimension of product. This dimension on some products may 2mm or 4mm shorter.

R~ Mounting Data

©82:0. 3 16/32-12-30" (SAE)
\ depthis
oy [-'[ =,
_ B g
- N \
& = N N
10185 3 M <le s '1 (@ ¢
< | ] )
3 = J R
1 5 v
61
I - )
16/32-12-30° (SAE)
depth15
30
L s - r
I j \’323
) = |
101S-5L : s sG] |
- — A W !
‘,': ——i--zlg = ,'1 Q;
< 4 /A
<+ . 4 .
e |4 - / >
| g/
61

www.zs—-hyd.com >> 12



101(S)-5(T)(TE)(L)(E)(TX) ZR 5l &k E @S
101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

&E#: R~ Mounting Data

$8540: 5 16/32-12-30° (SAE)
depthib
L 7
- <
= (]
= \ e
K |
101S-5E - -sleis *@;
| 4 ©
= /Y
Ip &
(L 1
A
" 84 B
16/32-12-30° (SAE)
50 depthl$
L8 $82+0,3 30
J _ H—k
Q B 7o\ RS
101851 @ B = 214) Eﬁ
) ol - ’ ﬁ\. Smteck, ks ‘\\
=l w | = / 1\45“ !
=3 T B 'm { BB\ \ !
:,'- T P = e = ‘ N ," <@
kS ,@‘é :1 ; i
< «(j i @/
HL{ ) v
2.8 22 v / T 61
7 18 44 £ 84
L
16/32-12-30° (SAE)
50 depthl$
$82+0.3
LS 30
"ﬂ\ = a Pl
101S-5TE ‘ g o)
<
-3 A B B -
%- T , ;3 IS g
/
4 L
2.8 BL NV
T
7 28 44
49
L

13 << www.zs-hyd.com



S

Je I+ E

Zhaosheng Hydraulic

101(S)-5(T)(TE)(L)ENTX) E 5|4 ik E 022
101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

#E$#E R~ Mounting Data

8210 3

16/32-12-30" (SAE).

depthl5
101-5T £
_{
101-5TX H |l .
) 382 6
s
W L 61
L 84
L
s O%24r Ports Threads
i P. T. A, BHO n I@ﬂaﬂﬂ 5 li@:’fﬁﬁé‘lv{ LSH@0 LL. ELED
Code POI’tSP,T,A,B oumncoun Ing OUthOUn Ing Post LS Ports LL,EL
A M20x1.5 M12x1.5
B M20x1.5 O-ring Mi2 M12x1.5 O-ring
C M18x1.5 M12x1.5
D M18x1.5 O-ring M10 M12x1.5 O-ring
E G1/2 G1/4 M10x1
: M10x1 : -
U G1/2 O-ring G1/4 O-ring M10x1 O-ring
M M12
F , 3/8-16 UNC 3/8-24 UNF
| 3/4-16UNF O-ring P 7/16-20UNF O-ring
M10
N M10x1.25
H @185 M10 M10 M12x1.5
F1: BOP. T. A, BESRE16 mm, EHIBELC. VABRE16 mm, LS, LL, ELAVRE12 mm,

Note 1: Ports P, T, A,B Depth : 15 mm; Column Mounting C & V Depth: 16 mm, LS,LL,EL Depth: 12 mm.

2. BfBOERSIVIRERS.

Note 2: The code of other ports dimensions will be listed in an agreement.

www.zs—hyd.com

>> 14



101(S)-5(T)(TE)(L)(E)(TX) BRFI&ikELkEIEE
101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

101-5T = aiT & 4%= Order Code

Pos.1 Pos.2 Pos.3 Pos.4
oo [ - | s | 7 [ - [ [ - [« |
‘ Pos.1 ‘ — ‘Djﬁ%ﬁ% Function Code ‘

5:7A7EHERAY 5:Load Sensing Type

’ Pos.2 ‘ - ’{ﬁ?‘ﬁﬁﬁﬁ}i&%ﬁ Priority Valve Connection ‘
T &1 %&# T:Pipe Mounting

’ Pos.3 ‘ - ’HE% Displacement mL/r ‘

50, 63, 80, 100, 125, 160, 200, 250, 280, 315, 400

‘ Pos.4 ‘ - 3BOMRKEE Port Code ‘
A.B.C.D. E. U M F IN

101-5TX FEfaiT 5 4= Order Code

Pos.1 Pos.2 Pos.3 Pos.4
Lo | - [ s [ 7 [ x [ - [ w [ - |
| Pos.1 ‘ - ‘Dj’ﬁ%ﬁ% Function Code l

5:FAEHERAY 5:Load Sensing Type

| Pos.2 ‘ — ‘17‘E§EH§_]E§%EQ Priority Valve Connection |

T:BT\&E#E T:Pipe Mounting
‘ Pos.3 ‘ - ‘ HEE2efifAaE  Neutral Function of SCU ‘
X: YOSy, ERasZaiOATHOEEN,

X: When the 101-5TX series SCU is in neutral position, both of its
left and right cavity are connected with T port.

| Pos .4 ‘ = ‘HE% Displacement mL/r l

50, 63, 80, 100, 125, 160, 200, 250, 280, 315, 400

‘ Pos.5 ‘ — |3BOMES Port Code ‘
A.B.C.D. E. U M F IN

15 << www.zs-hyd.com



Je I+ E

Zhaosheng Hydraulic

S

101(S)-5(T)(TE)(L)(E)NTX) BRF|&RIEHEE
101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

101S-5 = RiTH& %= Order Code

Pos.1 Pos.2 Pos.3 Pos.4 Pos.5 Pos.6
UCH N | (s =T e ] = |

~ [ 1o8ERFS Function Code |

5:fAEMERAE! 5:Load Sensing Type

- | {LACRERFE T, Priority Valve Connection |

Ho: B4E: #&=E#E Omit: Modulary Mounting
T. B3,)E# T:Pipe Mounting

- | EBRIT IS S3% %71, Electrohydraulic Control Signal Connection

H. 8. BEHEMRISS: Omit: No electrohydraulic signal.
L: LLOSIHEZELSOEDNSS L:The pressure signal at LS connection drawn forth from the LL connection.
E: ELOS|HBIAZBHOBIE/JISS E:The pressure signal at the port A or B drawn forth from the EL connection.

- ‘;qﬁ% Displacement mL/r |

50, 63, 80, 100, 125, 160, 200, 250, 280, 315, 400

- ‘ ERRES#ES Integrated Valve Parameters |

BERE/NGTE(E: Relief valve pressure settings (MPa):06, 07, 08, 10, 12, 14, 15, 16, 17.5
EPREISEEXZERENS6 MPa)

Shock valves pressure settings is 6 MPa higher than relief valve

. |;‘EB|:]1’-ﬁﬁE_‘,- Ports Code

A, B, G, D, E; UA M| F; Ix N H

M1 - For example:
101SAYKAES, AFERE, BBENE  Order code
BOLER, BRIEHESMAZBBOSIE.  101S-5TE-125-10- E

HE125mL/ir, ADBEOE, Z2REN
10MPa, Z0REN16MPa, UHOREY — Peo=E TAR G5
G1/2, BEAESEZEYMI0, LSES0 Column Mounting Thread C M10;
G1/4, ELIE20M10x1, Port: LS G1/4; Port: EL M10x1
EEEITER S 101S-5TE-125-10-E Relief Valve Pressure Settings :10MPa;
Shock Valves Pressure Settings:16MPa

——— Displacement: 125 mL/r
Pipe Mounting,with an Electrohydraulic Signal

www.zs-hyd.com >> 16



RN XA XA

Responsibility Integrity Make Excellence

HEAHUEHR &

Scientific And Technological Innovation Create Quality

Wbk IR E HL i R PR 2 F)

i3k
FiE:
fEH:
P 1k -
HBFA :
BB 4R :

THEE XA HE T EX
+86-0319-5666766
+86-0319-5669088
http://www.zs—hyd.com
sales@zs—-hyd.com

055550

Hebei Zhaosheng Hydraulic Machinery Co.,Ltd

Add: Dalu District, Ningjin, Hebei province, China
Tel: +86-0319-5666766

Fax: +86-0319-5669088

Web: http://www.zs—hyd.com/English/

E-mail: info@zs—hyd.com

P.C.: 055550



